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5.1 £

511 &MRERE
W*’D‘ ft'EIifiQi-

fl "B = Zf;ﬂ'i
i=]

b
(f*,9) = / iz f*(z) g(x).

— PN E2HNARZEEFR AR RBEE Hilbert) Z[E]

Y XERG

(5.1.2)

(5.1.3)

(5.1.4)

(5.1.5)



Q%ll‘ilrk =
ZZMEHET
. Z G;‘jfj = hy,
j=1 |
(5.1.11)

HOEF
: G‘(I‘ ! ! [
Df ) f(z') dz' = h(z).
(5.1.10)
Gf=h.
5.
MAET: | N
. il -‘EQ(I)] f(z) = h(z)
, a<z<b
(5.1.13)
Df = h
(5.1.14)

f(z") = h(z). (5.1.15)

i
&D . =
- ] ljfj hi-
(5.1.16)



e85t SR E) Zanf

J_.Eﬁ‘_CUH—’I‘E: (f:rn fm) = {Smrr

E%: Uy = (fﬂfﬂ}!

JEIERVT—1FH

fm: Z fmsfn)aﬂ'
n=1

dEﬁﬂng an -_ (fmafﬂ)i Cm =

Gramﬁﬁlli: Cm = z ana’ﬂa
n=1

(5.1.17)

(5.1.18)

(5.1.19)

(5.1.20)

(5.1.21)

(fms £),



I=) gn)(gn (5.1.26)
> (£, 9n){9n: 9) = (£, 9)- (5.1.27)
' J, BIEZEA—H
bra®iff:  (f T
ket®fF: O) lEk
PR (f.g) %

HNFR : f)(g X%



A=t f) = 0)(0m £, (5.1.30)
n=1 n=1

(z,z') = 6(x — ') (5.1.33)
I = / dz z)(z, (5.1.34)
(f,9) = [ dz(f,z)(z,9) = [ dz f(z)g(z). (5.1.35)
[ [

TEF=4E /R (Parseval) TEIH:

MRS REE B ARARER = /dk (f* k) k", g) = / dk f*(k) g(k).
v WNEES =



HEHET:
PHREE T
XTFREF (f,Gg)
B/ BEET: (f7,09)=
Gf)
=) g
> (Wi, Ggn) ay
o, BEH

W 7"2 #&//y"]l_t &

a, HFERH
(w,,,Gg,) BT E

(f,Gg) =
(f*,Gg) =

(9,G°f)

(9%, G*f)".

=(9,Gf).

(9", Gf)".

Z KB AR A
1:257:’;&/% jZ%EE/Z-E

W_ix 79 d K

W S'Ejggn:

(5.1.49)

(5.1.55)

(5.1.57)

S X-MEg g%, M

#: =ILECE
g &%



ZAR{E{E o) & -
Gfi) = Aifi),s (5.1.59)

XfFR: PEIARMEENNHIREREER;
if A; # A;, then (f;, f;) = 0 when 4 # j,
JB%: AMEERIH, EEAREN LER
(i fi) =0

EEFEFHRERERR T — T E2HNERB R, MAHREFNARA.
S IAEdl: 5.8

HF&MESGER, RAREEHENEMEFEXNFR;
SFEMETLEER, RRREELFENZEETEIEE/M,
S Ak 5.9



E R BUE RN :

(D FEEIBIAFFMN: BERFM. BHFEG EREERNS, &
FHAFFHRETHIZEEI;

2) REFSARMESMAVEIT R : SRS, &5 H. #loXEaEH
£, BEPEF;

@ NEE, HTIHE.

ERH TR EEMERY TEERY;
TEE AR . AR E R
EERY. REERY;

BHEERH: E/RZEFRHY. FMERRY., MoPERY . =AREE
#H. EEERY. RIGEERH. SWeEERH., TRBRTERY. Baa
RICERY. SMBEERERRR. SHhERREERHY



EEHETEEN—ERFE:

(1 EFEEAEENE, R AESEAE;

(2) LA F LT3 (QOFFT) 2 S MR E IR ;

(3) IER T IEKREAERE 52 : (WCGIEK. GmresiEfX), LIFE[GE-KE=3x
MEEBNREEKRFEEE;

(4) ERAMRIEFE-REHERVBESE: WFFTEE, RIEZIRENAE
L BRRBIEERE AT

5) EREMHRAEE: NBENZXIEIL (ACA) B, ZEEMKTH#7
(MLMDA) B £5F;

(6) RAEEFRZE: Bi-#E. K-S0, Brg-5s;

10. _
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5.2 BHORNEDRIAL

52.1 —RME

Lf(r)=g(r), (5.2.1)

BHEEN: (f3, L) = ((Lf2)", fr) = (1, Lfa)". (5.2.2)
XFRE X - (fo. Lf1) = (f1, Lf2), (5.2.3)
PIFRE X (ofob = [ de £i0), £t (5.2.4)
ZERTEN : EREAERE
Z R THIE X : | = fun(f)

f=/fet+6f, | =1 _+0l (5.2.6)
EMGZR I=(f"Lf)=(f"9)— (9" f) (5.2.5)

AJERR: (158X 6. 2.5) T AT R, BliEs, BlARTZEG. 2.1) BUfE;
T —FER K RE T A IEN AL,
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WERH :

___________

____________________

__________________ \ R
e e e

61 = (f2,L8F) + (6f*,Lf.) — (6f",9) = (¢°,6f). =0 (52.7)
et (6) REFEKT 5
EREMR: (7 L8f) = (6f*,Lf.). Hef L,=g

el f, AUZERB—IRES 51 A, RPABTEF—MRE of ,
)”'Jl:EI’J/Z HYIRZE 9 Bu —MrEE .

B 87 | =< f",Lf >-2Re< f",g>
[E3E, HLAXMME T, HENHZSRIENA:

I FRAT - I'=(f,Lf)—=2(f9) (5.2.8)
BTRIEN 6G) F @) MR, NE—1IER,



BH4E . I=a'"L-a-a' - g-¢g'-a
Xﬂ'ﬂ(%_jr I=a'"L.-a—2a' g
*BpEFFIZ: L-a=g.

WAIEX — 1T 5EEHRXINETRIER
w=(h", f), Lf=g

Lf,=nh
T o _ o glh, )
Sl TR
WFRE T L Uaegh{fn)
(fu £F)

Eﬂ}

A RE M) HESINEEERE

(5.2.10)

(5.2.11)

(5.2.12)

(5.2.13)
(5.2.14)

(5.2.15)

: ‘\.13 F



5.2.2 ImH-BLIOA

A 473 |0 @ 5K iR -

N
f= Z A frs (5.2.19)
=1
N N N N
I=) Z ayanlfun £fa) = Y _anlfa.g) = D anlg’ fu)  (5:2:20)
n=1n'= n=1 n=1
TARHTREBL:  1=al.LT-a-2Re(at g, (5.2.21)
Hrp, (L], = (frs Lfn), (5.2.22)
8] = (fr,9), (5.2.23)
§I = 6af -Lag +a) - L-6a—2Re [a - g] = 0. (5.2.24)
2Re [6a' - L - ag] = 2Re [6a' - g]. (5.2.25)
RAKEAEPERIE: L oay=g (5.2.26)

Eﬁltﬂ&ﬁﬁ’]fﬁﬁﬂ BuRAShBEREZe—88, MREeHEANEER

T oiaEM.

14



2 2 ban(fam, 9)(R7, fn)

:> U = m:If::l
Z Z bma"<fam7£fn)

m=1n=1

bf . gh'-a
bt-L-a
—> L-a =g,
-bg = h,

b} - gh’r 2o

|:> Ug = bO L
uozhf-aozbo-g

(D NFEREP—1IRHIE; QRBTEEFEE
RE B 4F b UT (A% B ()RR AV % o

-

e f
(5.2.13)

(5.2.27)

(5.2.28)

(5.2.29)

(5.2.30)

[g]m - (ft:m'-' g>"
(5.2.35a) (h], = (f:, h),
(52350) [L] o= (famr L),

(5.2.34)

(5.2.36)
PRI R BV ZR; () T 2



5.2.3 XU OIERIN
TE: ¢—>H;p=>u"
™M: ¢—E;p=>¢"

V- p(r)Ve(r) + k*(r) p(r) ¢(r) = s(r),
L=V pV+kp.

TTFEN R pkzj] L
BHEFEH:

(#1,V - pV o) = (¢3,V - pVy)”

(61, k°p @) = (63, k°p d1)",

_______________________

v ' S

<

, BT

(5.2.37)

(5.2.38)

(5.2.39a)

(5.2.39D)

(5.2.41)

KIX B HFH A 234
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el

e LIRS, LABHET

I = -—/drprqb(r)F-i—/dr k*p|o(r)|? — 2Re /dr ¢*(r) s(r). (5.2.43)

14 14 S N
T AZERTEERE

BRENRIER: ok AEH, LAXNTHRETF

/drp (Vo(r /dr k*pd*(r) — ]drqb(r)s(r). (5.2.44)

v
= u = ¢(ro) = (h*, ¢(r)), (5.2.45)
h* = 6(r — ro).
V- p(r)Veq(r) + k*(r)p(r) dq(r) = é(r — o). (5.2.46)
u = ¢(rg) = ¢(r0)‘!dr % (5.2.47)

— [drpVe;-Vo+ [drkipeie’
Vv |4



5.2.4 NWRERHIEHINFE

V x pu 'V x E(r) — p 'k*E(r) = iwJ(r), (5.2.48)

L=(Vxpu'Vx) - ulke (5.2.49)

TRENRER: Kk LY

BHFG:
(Ej(r),V x p7'V x Eo(r)) = (Ei(r),V x p7'V x Ey (1)) (5.2.50a)
(Ej(r), u 'k? Eo(r)) = (Ej(r), p 'k* Eq(r)), (5.2.50b)
(A.B) = / dr A(r) - B(r), (5.2.51)

v

___________________________________

/dr Ei(r) -V x u7'V x Ey(r) :5— /dSh- 1 'Ej(r) x V x Eg(r)]\i

v S

N e e e e e e e e e e e e e e e e e e e e e e e

+ /dr 'V x Eij(r) -V x Eo(r).  (5.2.52)

(MxE=0)8 (A x VxE=dwpun x H=0) , BIEEEsfiEENR &4
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e LIRS, LABHET

I= /dru’llv x E(r)|? —/clr,l,L"1k2|E(r)|2 — 2Re [iw!drE*(r)-J(r)} :

V ’ ~ (5.2.54)
BENREBER: vk AEX, LIXIREF T ATERTEENRE

I= /dr,u_l[\_/' x E(r)]* - /dr;flkz [E(r)]* - Ziw/dr E(r) - J(r).

4 % v (5255)
s . _ e
u=a-E(rg) = (h*,E(r)), (5.2.56)
V x 7'V x Eo(r) — 7 'k* By(r) = ab(r — ro). (5.2.57)
iwa - E(r fdrE* r) - J(r)
- B(rg) =

fdru“IVXE (r) -V x E +fdrp"1k2E (r) - E(r)'(5_2_58)

pu.
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5.3 IFEHFEIRANEDTRIAL

5.3.1 —ﬂxﬁu
HEHT: (F1. L) = (L) fa). (5.3.1)
HhEE T (f1, Lfa) = (fa, L11). (5.3.2)

(L4 = L.
AR EABE WIFESZER) : L # Land L # L.
AIESCZER: I =(f;,Lf)~(fs 9) = (9. f), (5.3.3)
Lf=g. Lfa=ga (5.3.4)
let f = fe+df, fo = faet+bfa,

01 = (foe LOS) + (015, Lfe) — (8f7,9) —{92,6f). =0 (5.3.5)



ERRN S E L4
I'=(fa, £f) = (far9) = (9as f),
Lf=g, L'fa=ga
HTEE:
u=(h", f)
Lf, = h.

_Un o, f)
(2 1)

(5.3.6)

(5.3.7)

(5.3.8)

(5.3.9)

(5.3.10)

21



5.3.2 ImH-BLIOEA

N N
=Y afu fo= bufom (5.3.14)
n=1 m=1
N N N
I=)" aubl(fam Lfa) - Zb* (fom @) = D_anlgs fu),  (5.3.15)
n=1m=1 m=1 n=1
I=b'-L-a-bl - g—gl-a, (5.3.16)
5T =b)-L-6a+6bl-L.a,~6bl-g—gl-sa. (5.3.17)
L a =g, (5.3.18a)
L' by =g (5.3.18b)



5.3.3 XUtnE SO TIE0IN A

V-pVo(r) + k’pé(r) = s(r), (5.3.20)

L=V pV+Ek® (5.3.21)

HE X : L=V p'V + k*%p*. (5.3.22)
V- p*V.(r) + k*2p*¢o(r) = s,.(r). (5.3.23)

J = _,/drp(v¢a)*.v¢+/drk2qu;¢—/dr(b;s—/drquﬁ,

|4 Vv Vv 4

(5.3.24)

23
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5.3.4 NKEKHIEHINFE

Vxnu ' VxEr)-wé E(r)=iwl(r). (5.3.25)
L=(Vxpu ' Vx)-we (5.3.26)
L%f, = gs. By Vx (_T) -V X Ey(r) — W€ - Ey(r) = iwd,(r), (5.3.32)

I=/derE;() !V xE(r wZ/drE
%

|4

wiw/drEar- r +zw/dr.]ar- (r), (5.3.31)

Vv

w=a- B(ry) = (ab(r — ry), E(r)), (5.3.33)

U x (B) 7V x E,(r) — w’ - E,(r) = a6(r - ry). (5.3.34)

wa - B(rg) [drE;(r) - J(r)
%

# Blro) = fderE (r)- 27"V xE(r) —w? [dr Ey(r) - € E(r)’



5.4 MMHECIRABNEDTRIAL

5.4.1 —f&8E=

BEFRtE: Lf = \Bf (5.4.1)

EREEF:  (f.Lf) = A Bf) =0, (5.4.2)
L)

A= B (5.4.2a)

(0f%, Lfe) +(fe, LOF) = A((8f", Bfe) + (fe, BES)) = 6A(f¢, Bfe) = 0, (5.4.3)

gy, (LLLf) - XM/ Bf)=0, (5.4.4)

L) 40

A=

ETEoRIENIIRFI-E22 KB REAS I €& 77E— 2
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XFAEB IR, EXHEBIERE

Lof, = A Bf,, (5.4.5)
_ fa, £f)
\= B (5.4.6)

SM(faes Bfe) + Ae((6f5, Bfe) + (fae: BOS)) = (85, Lfe) + (foe, LEF). (5.4.7)

ST AEXTFRIEIEE, TE X GBI R 2 -

Ltf, = ABLf,, (5.4.8)
_ ({fa Lf)
=B (5.4.9)

Indl-B iR it 7 IR M RIREFET .



5.4.2 XWtnE R HIE0IN A

Vp(r)Ve(r) + w’p(r)/c*(r) §(r) =

L=V -pV, B=-

fdrp IVo(r r)|?
V

THEEFEE: BFEF :Jdrp EET)

f dr p(r V<15(r)]2
BB : XIMEF L=

fdrp (r)]2/c?(r)

EESER: EBHEET

Ay

(5.4.10)

(5.4.11)

(5.4.12)

(5.4.13)
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54.3 NKREKHIEHINFE

Vxa ' VxE(r)-w?e E(r)=0 (5.4.14)

[drV x E*(r)-m~!-V x E(r)
- 2 _ V.
fFERft: BRET @ [drE(r) € E(r) : (5.4.15)

[drV x E(r)-gp~'-V x E(r)

R 2_V
ESER: MHET EEG TR (5.4.16)
Vv
EEZER: EBHET
V x (Tit)—l .V x E.(r) — w?€" - E,(r) = 0. (5.4.17)

[drV x E,(r)-m~!-V x E(r)

2 _V
w* = JdrEa(r) T B0 : (5.4.18)




5.5 EARDFREFFERDFRG

BHEN:

_______________________

___________________________________

v VS

N e e e e e e e e e e e e e e e e e e e e e e e e e e =

(AXE=0)8 (A xVxE=iwun x H=0) , ENeEEEskmEEnERE&H

==

TR ERIREI, HREEBINBNAFFHE, MAERIDFFEN;
1% O1 =0 RIZIANAFRFHIRABEARIDAFM;

A— RZEEPHAMNAIESEDRE, FRIAFAR, BHUKFIIE;
A RE B PKIGHRERRIRH ERRNERAF 50
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55.1 InEK OB

V. p(r)Ve(r) + k°p(r) 4(r) = s(r), reV,

I = —/(irp(v¢)2+/drk2p¢2~2fdrqbs.

V Vv vV

o1 = —Q/drp(\_/'(b)-\_/'égﬁ+‘2/Idrkgpgﬁ&q&ﬂ—? /dréaﬁs.

% % %

/drp(qu) -Véop = / dSn - (pVedp) — /dr (V-pVo)bde.

V S V

(5.5.3)

(5.5.4)

(5.5.5)

30



M:2/dr(V-pV¢)é<zﬁ+2/drk%qﬁégb—?/dréqﬁs—Q/‘dS'FL-(p'\_/'cj)(qu).
V

v v S

(5.5.7)
n-V¢ =0, on S, (5.5.8)
L=V -pV -A(S)pn- -V +kp. (5.5.9)
(61, A(S) pit - Vo) = /ds by pi- Vb,
(61, Lba) = — / dr (Vén) - p (Vo) + / dr K2p 16 (5.5.10)
%4 |4
L=V pVep—A(S)pn-Vé+ kpo, (5.5.11)
V. -pVep—AS)ph -Vé+k’pp=s (5.5.12)
L=V pV -V -pal(S) + k’p, (5.5.13)
(91, L) = /dr (Vé) - p (V) + / dSn - (¢1pVea)
+de(V¢1) pﬁ¢2+/drk2p¢1¢2 (5514)

S 1%

v f



I = —/drp(v¢)9+2/(i3ﬁ,-(qspv¢) +/drk2p¢2 —2/(11‘(;58.
J J g A (5.5.15)

6I=2/dr(V-pV¢)6cﬁ+2defz-(¢pV6¢)+2/drk2p¢5¢—~2/drégbs.

v S v Vv
(5.5.16)

I = —/drp(v¢)2+2/d5(3¢+/drk2p¢2—Q/drqbs. (5.5.17)
S

%4 V Vv

I-:~/drp(Vq5)2+2/defz-(d)—'y)de>+/drk2pqS2—Q/drq.’)s.
J J /) ) (5.5.18)

I = ﬁ/drp(VQS)Q%w /dSacf')Q+/drk2p¢2-2fdr¢3. (5.5.19)

Vv S % v

s



5.5.2 &

I=(VXE

*
a

R IBIE

P -

Vxpg! VXE-w?e E=1wl.
L=(Vxp™ Vx)—-uw'e

L= [\7 X (ET)_1 : Vx] — w?e,
-1

L= [V x (g

27!V xE) —uw*E, € E)
—w(E;,J) + iw(J:, E),

4

(5.5.20)

(5.5.21)

(5.5.22)

(5.5.23)

(5.5.24)



L=(Vxp™ Vx)=[A(S)axpg ™ Vx| —w’E

L°E, = iw],, (5.5.25)
iwl, =iwnx H=axu -V xE. (5.5.26)
(5.5.27)
LE = iwl]. (5.5.27a)
LRV X Ey) —Wwi(E] € Ey) (5.5.28)

L = [V X (ﬁ*)_l : Vx} - {A(S)fz X (/—ﬁ)_l : Vx} — Wi, (5.5.29)

(E;,L°Ey) = (V x B3, () VxE ) —uXE; e -E). (5530

Axm ' - VxE=0, on S, (5.5.31a)

Ax (E) - VxE, =0, on §,

Vxpm 'V xE-A(S)

x@ ' VXE—-we E=iwuld.

(5.5.31b)

(5.5.32)

34



M, = —nx E (5.5.33)
Uxp - VxE-Vx g AS)(nxE)|] —w’e E=iw] (5.5.34)

L=(Vxp™ ' -Vx)=[Vxg™ A(S)ax] - w’e (5.5.35)

(Ef, LE2) = (V xE[,z 7'V x E,) h/dSTAL- (E} xp™! V x E,)
5
+/dS (VXE; - TY) x By - wX(E], € Ey).  (5.5.36)
5

Lo = (v < (@)™ VX) - [v x (@)™ A(S)ﬁx] e, (55.37)

(E}, L°E;) = <v x B, (@)™ V x E1>v~/d5ﬁ-(E; x ()" V x El)
S
+ /dS [v x Ej - (ﬁ*)‘l] x E; -7 —wi(E}, € E;). (5.5.38)

S
[ = (E., LE) — iw(E, J) + iw(J’, E)
— <V % E;,-ﬁ_l'v X E>+<E;,A(S)ﬁ,xﬁ—l.v X E)

+(AxVxE, -z ,A(S)E) — w*(E;, € E) — iw(E},J) + iw(J}, E).
(5.5.39)
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Vxpg PV VXxE-AS)AxE ™ VXE-w € E=iw] —iwA(S) a,

(5.5.40a)

Vx (@) VxE—AS)ax (g) - VXE,~w?e E, = iwl, —iwA(S)
(5.5.40b)

I=(VxE,,z ' VxE)-uwE] € E)
—iw(E: [T — A(S)a]) +iw([J;, — A(S)a],E).  (5.5.41)

a

Vxnm 'V VXE-Vxa ! A(S)AxE —-w?é€-E

=iw] -V xAS)E '8, (5542a)
Vx (@) - VxE,—Vx (@) - A(S)Ax E, —w?e - E,
= iwl, -V x A(S) (&") - B, (5.5.42b)

I[=(E,,LE) —iw(E.,J) +(VxE,, A(S)p ™" B)
+iwlI3,E) + (AS) (B) 7B,V XE).  (55.43)

[=(VxE,G" VxE)-uE,[e— A(S)T] - E)
—iw(B D) 4w E). (5.5.44)

Ax H=—iwr-E, AxH,=—iwr - E,, (5.5.45)
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5]

5.5 An arbitrary, square integrable function f(x) defined for —a < z < a
can be expanded as a Fourier series

> inwr
fla) =3 bue.

n=-—oo

(a) Show that the basis €""*/% is orthogonal with a complex inner prod-
uct, and derive a new orthonormal basis.

(b) Derive the equivalence of (5.1.42a), and hence, the identity operator
(5.1.43) for this basis. Give the explicit expression for (z*,Zz'), the
coordinate-space representation of this identity operator.

(¢) Derive Parseval’s theorem for the Fourier series as in (5.1.48).

5.6 Show that the definitions of symmetric and Hermitian operators given
by (5.1.53) and (5.1.54) are similar to those for matrix operators.
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